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QUESTION 1

Which type of constraint can be used to tell the DB2 Optimizer that a parent-child relationship exists between two tables,
but that the relationship is not enforced? 

A. Check 

B. Unique 

C. Referential 

D. Informational 

Correct Answer: D 

 

QUESTION 2

What factor influences lock escalation? 

A. Table size 

B. Buffer space 

C. Number of locks 

D. Available real storage 

Correct Answer: C 

 

QUESTION 3

If no isolation level is specified, what is the default isolation level used? 

A. Cursor Stability (CS) 

B. Repeatable Read (RR) 

C. Read Stability (RS) with Currently Committed semantics 

D. Cursor Stability (CS) with Currently Committed semantics 

Correct Answer: A 

 

QUESTION 4

Which SQL statement would be used to retrieve only salaries that are greater than $100,000.00 from a table named
EMPLOYEE? 

A. SELECT * FROM employee WHERE salary 
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B. SELECT salary FROM employee WHERE salary > 100000 

C. SELECT salary FROM employee WHERE salary > 100,000.00 

D. SELECT * FROM employee WHERE salary GREATER THAN 100000 

Correct Answer: B 

 

QUESTION 5

Which statement about triggers is true? 

A. A trigger is designed to return specific types of values and contains executable code. 

B. A trigger is designed to return specific types of values but contains no executable code. 

C. A trigger performs actions to capture details about an activity like a join operation against multiple tables. 

D. A trigger performs actions in response to an event like an INSERT, UPDATE or DELETE operation on a table. 

Correct Answer: D 
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